
Different Formulas for Distance Between Points

We can use the Pythagorean Theorem to find the distance between
the points (x1, y1) and (x2, y2)

Conclusion: distance2 = ∆x2 + ∆y2

We can write this formula directly in terms of distance by
taking the square root

distance =
√

∆x2 + ∆y2
Since

∆x = x2 − x1 ∆y = y2 − y1
We can re-write the formula as:

distance =
√

(x2 − x1)2 + (y2 − y1)2

http://www.coobermath.com/Math_Meta/Theorems/Pythagorean_Theorem/Pythagorean_Theorem.pdf
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